Exercise 2H
1 a x*+2x=-13
c x°+10%+25

2 n*+9n+14

3 2w+ 7w

4 3%x13=39 and2x9+7x%x3=39
§ 11x11=121and 5*+36=061
6
7
3

2n+12n+ 18

Both are equal to 2ab + xy — by. He has found the correct area.

As n is even, then n + 1 will be odd, and so will n + 3.
Their productis: (n+ 1)(n+3)=n"+4n + 3
As n is even, n? and 4n will also be even. Adding an odd

number (here, 3) to an even number always results in an odd
number.

9 Vx’+x’ =/2x% or +/2x

10 lengthis x+ 8, n =13
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Both are correct.
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Consolidation

Exercise 2
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b m=-§-,c=’2
d m=2.c=0
d 3x°
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¢ 4m° d 16x%S
e x* d m®
g 4m™ n ¢*
b x*-25
d x*+6x-16
f 2-11x+10
h x*-18x + 81
i A=x*-8x+ 12
ii P=4x-16
1 A=32:P=24
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